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12th Geography Lesson 5 Questions in English
5] Cultural and Political Geography

1. Assertion (A): Culture is the way of life that
characterizes a group of people.

Reasoning(R): A culture consists of various
cultural components that vary between groups.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.
d) Both A and R is False.

2. Which is not characterized under the cultural
parameters?

a) Language

b) Cuisine

c) Status

d) Economy

3. Choose the correct statements.

i) Culture has common cultural elements and
has distinct cultural authority from other
regions.

ii) Only a limited number of cultural components
define the culture regions.

a) i only

b) ii only

c) Bothiandii

d) Neither i nor ii

4. State a culture region which is very small?
a) Spanish Harlem

b) Confucianism

¢) Buddhism

d) Zoroastrianism

5. Which of this region is covered under the
Corn Belt area?

a) Mid Asian countries

b) Latin America

¢) Mid-Western United States
d) Middle East countries

6. Which is known as the spread of cultural
beliefs from one group to another group?

a) Cultural Diffusion

b) Culture Superiority

¢) Cultural Relativism

d) Cultural Appropriation

7. Which of these factors used to increase the
mixing of world culture?

a) Advanced Communication
b) Transport

c) Technology

d) All the above

8. Which of this organ define the Cultural
Landscapes?

a) International committee on Heritage
Documentation

b) World Heritage Committee
¢) International committee on Cultural Routes
d) International committee on Cultural Tourism

9. How many categories of cultural landscapes
are identified by the World Heritage Committee?

a)5

b) 4

c)3

d)7

10. Which is not a cultural landscape defined by
the World Heritage Committee?

a) Associative Economic Landscape
b) Man-made landscape

c¢) Organically evolved landscape

d) Relict Landscape

11. Choose the Incorrect statements.

i) Cultural interaction focuses on the
relationships exist between cultural components
to characterize a community.

i) Culture shapes the identities and influences
the behavior of the people.
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ii) Culture refers to the sharing of sharing
language, beliefs, values and norms which does
not pass from generation to next generation.

a)ionly
b) ii only
¢) iii only
d) All the above

12. Which of these geography deals the
organization of various cultural aspects of the
total environment?

a) Human Geography

b) Cultural Geography

¢) Political Geography

d) Biogeography

13. Which of this factor is the primary
instrument for culture transmission?

a) Language

b) Values

c) Behaviors

d) Objects

14. Which of this country has the highest
number of languages?

a) India

b) Papua New Guinea

¢) The United States

d) Australia

15. Identify the Incorrect Match

A. Habit - i) Rules

B. Norms - ii) Attitude

C. Custom - iii) Verified behavior

a)ionly

b) ii only

¢) iii only

d) All the above

16. Which of these guide the behavior of people
in a social group?

a) Habit

b) Custom

¢) Cultural Norms

d) Values

17. Assertion (A): Norms differ across various
cultures which contributes cross-cultural effects.

Reasoning(R): Cultural Norms are learned from
others in a society.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.

d) Both A and R is False.

18. What are all the culture's values or beliefs?
a) Good

b) Right

c) Fair

d) All the above

19. Which does not fall under the Culture
Heritage?

a) Practices

b) Behavior

c) Values

d) Artistic Expressions

20. What are all the tangible representations of
the Cultural Heritage human activity?

a) Value systems

b) Traditions

c) Lifestyle

d) All the above

21. In how many ways the Cultural heritage is
distinguished?

a)3

b) 5

c)4

d)7

22. Assertion (A): Cultural diversity is having

different cultures and giving respect to the
differences.

Reasoning(R): Cultural Diversity is increasing
nowadays due to various cultural, racial and
ethnic groups.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.
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d) Both A and R is False.

23. Which of the human characteristic is
transmitted by various modes of
communication?

a) Cultural Heritage

b) Cultural Norms

¢) Cultural Trait

d) Custom

24. Choose the Incorrect statements.

i) Cultural traits allow a part of one culture to be
transmitted to another.

ii) Culture traits are not related to each other
and it's a simple value of a culture.

i) A Culture trait can be an object, a technique
or an attitude.

a)ionly
b) ii only
¢) iii only
d) None of the above

25. How many categories of Cultural realm are
categorized?

a)4

b) 5

c)3

d)7

26. On what basis the cultural realm is not
classified?

a) Religious belief

b) Language

¢) Racial Group

d) Habit

27. How many Cultural realms are available in
the modern world?

a) 10

b) 12

c) 25

d)5

28. The Occidental Culture,

i) It is the Culture of the American Society.

ii) This culture is greatly influenced by the idea
of Humanity.

iii) It has the regional modifications based on
Industrialization, Commercialization, and
Urbanization and political and Economic
Institutions.

a) i only
b) ii only
c) iii only
d) All the above

29. Which of this factor sidelined the religious
values of the Occidental culture?

a) Effect of Modernization
b) Other Religious ideas

c) Communalism

d) Technology Development

30. How many sub regions are divided for the
Occidental culture based on the impact of
regional environment?

a)5

b) 7

c)6

d) 10

31. Choose the correct statements.

i) Mediterranean Europe has the dominance of
Christianity.

i) Continental European is the most
Industrialized and urbanized culture.

a) i only

b) ii only

c) Both i and ii

d) Neither i nor ii

32. Which of these culture realms is the
offspring of the West European culture?

a) Continental European

b) Anglo-American

¢) Canadian

d) West European

33. Which of this Occidental culture is
underdeveloped region?

a) Continental European
b) West European

c) Latin American

d) Anglo-American
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34. What is the State language of the Occidental
culture region?

a) Spanish
b) English
c) French

d) Persian

35. Which of these countries are having social
tie up with the Occidental culture region?

a) South Asian Countries
b) Mediterranean Countries
¢) American Countries

d) East Asian Countries

36. Which of these is the east boundary of the
Islamic culture region?

a) China
b) Iran

¢) Morocco
d) Pakistan

37. State theReason for the sparse distribution
of Islam?

a) Inhospitable Environment
b) Political Influence

¢) Modernization

d) Western Culture

38. Which is the east boundary of the Islamic
culture region?

a) European Culture

b) Indian Culture

¢) East Asian Culture

d) Western Culture

39. Assertion (A): Islamic culture is highly
orthodox and based on traditional beliefs.
Reasoning(R): The Literacy rate of the Islamic
countries is very low because of the low level of
modernization.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) Ais True but R is False.

d) Both A and R is False.

40. Who termed the Indian culture as the paddy
culture?

a) Baker

b) D. Stamp

c) Toynbee

d) Mackinder

41. Identify the Incorrect Match.
A. North - i) Himalayas

B. South - ii) Indian Ocean

C. West - iii) Hindu Kush

D. East - iv) Sundarbans

a) i only

b) ii only

c) iii only

d) iv only

42. Which is not a characterization of the Indian
Culture?

a) Joint family

b) Polygamy

c) Seasonal climate changes

d) Semi feudal Land relations

43. What is the greatest influence of the Indian
subcontinent culture?

a) Vedic Values

b) One God

c) Modern Values

d) Western Culture

44. Which region has the Buddhist culture?

a) West Europe

b) Indian Subcontinent

c) East Asia

d) Mediterranean

45. Assertion (A): Japan and South Korea has
the true Buddhist Culture.

Reasoning(R): The Impact of Industrialization
and modernization can be seen in Japan.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.
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d) Both A and R is False.

46. When did China adopt the modified Buddhist
system?

a) Before Colonization period

b) After Industrial Revolution Period

c) After Second World War

d) Before First World War

47. Which of this culture is known to be a
transitional culture?

a) East Indian Culture

b) Mediterranean Culture

¢) West European Culture

d) South-East Asian Culture

48. Match

A. Philippines - i) Islam

B. Malaysia - ii) Buddhism

C. Indonesia - iii) Christianity
D. Vietnam - iv) Indie

a) ii, i, iv, i

b) iii, i, iv, ii

d) iv, ii, iii, i

49. Which of these is known as Negro Culture?
a) Meso-African Culture

b) North African Culture

c) South-East European Culture
d) Mediterranean Culture

50. Which of these is not similar to the Negro
culture?

a) Australian aboriginals
b) American Red Indians
¢) Indian Subcontinent

d) Latin American Tribes

51. What is the term used by Toynbee for the
Negro Culture?

a) Modernized Culture

b) Marginalized Culture

¢) Feudal Culture

d) Tribal Culture

52. Which is not true about the Folk culture?
a) Traditional

b) Rural area
c) Isolated
d) Extinct

53. Assertion (A): Race is defined as a group of
people with less permanent distinguishing
characteristics.

Reasoning(R): The Skin color and Hair color of
the people attach certain race interpretations.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.

d) Both A and R is False.

54. By which of this feature the race of a person
is not identified?

a) Type of hair

b) Skin Color

c) Religion

d) Blood group

55. How many groups are classified in Human
races?

a)3

b) 4

c)5

d)7

56. Which of these race people live in sub-
Sahara Africa?

a) The Negroid

b) The Mongoloid

c) The Australoid

d) The Caucasoid

57. The Mongoloid people,
i) AlImond shaped Eyes

i) Eskimos

iii) V shaped Cheeks

a) i only

b) ii only

c) iii only

d) All the above

58. Which of these race people belong to East
Asian region?
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a) The Mongoloid
b) The Negroid

¢) The Caucasoid
d) The Australoid

59. The Caucasoid people are also known as
have eyes.

a) Modern, Blue

b) Black, Brown

¢) White, Colorful

d) Stone Age people, Small

60. Which of these features belong to the
Australoid Race people?

i) Pointy nose

ii) Dark Skin tone

iii) Vertical Forehead
iv) Short in height
a) ii, iv only

b) ii, iv only

c) iii, iv only

d) i, iii, iv only

61. Which is referred to the shared culture way
of life?

a) Ethnicity

b) Race

¢) Culture Trait

d) Custom

62. Which is the largest ethnic group in the
world?

a) Red Indians
b) Latin American
¢) Han Chinese
d) Mediterranean

63. Which of these people belong to the oldest
Indian civilization?

a) Red Indians

b) South East Asian Tribal
¢) Indo-Aryans

d) Mongoloid People

64. When did the Indus Valley Civilization people
migrate to India?

a) 200 AD

b) 1800 BC

c¢) 1000 BC

d) 500 AD

65. Which is not a major ethnic group of
Dravidian people?

a) Tamil

b) Telugu

¢) Kannada

d) Bengali

66. Name the major Kingdom of North-India
after the arrival of Indo-Aryans?

a) Kuru

b) Marathas

c) Chola

d) Sultanates

67. Assertion (A): Later South India was
dominated by Cheras, Cholas and the Pandyas.

Reasoning (R): The Major language spoken by
the Dravidian people were Tamil, Telugu,
Kannada and Brahui.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.
d) Both A and R is False.

68. Which is the Dravidian language written in
the Arabic based script?

a) Urdu

b) Kannada

c) Tulu

d) Brahui

69. Assertion (A): Religion is classified based on
the belief in God.

Reasoning(R): The Polytheistic followers believe
in many gods.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.

d) Both A and R is False.
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70. Which of this classification of religion is not
based on the area of origin?

a) Western Religion

b) African Religion

c) Eastern Religion

d) Northern Religion

71. Identify the correct Match

A. Animism - i) Tribal religion

B. Buddhism - ii) Ethnic religion

C. Judaism - iii) Traditional religion

D. Shamanism - iv) Universalizing religion
a) i only

b) iii only

c) ii only

d) iv only

72. Which of the following is the major religion
of the world?

a) Sikhism

b) Confucianism

¢) Judaism

d) Shintoism

73. Which of this religion is spread in Anglo
America?

a) Judaism

b) Christianity

) Shintoism

d) Islam

74. Choose the correct statements.

i) Islam is the second largest religion of the
world.

ii) Shia and Sunni are the two main sectors of
Islam religion.

iii) The Islam religion is concentrated in the
Central Asia, South Asia and also in North Africa.

a)ionly

b) ii only

¢) iii only

d) All the above

75. When was Hinduism founded in India?
a) 3000 BCE

b) 100 CE

¢) 200 BCE

d) 1000 BCE

76. Name the sacred book of Hinduism?
a) Bhagvad Gita

b) Thirukkural

¢) Mahabharata

d) Shakuntala

77. Choose the Incorrect statements.

i) Buddhism was founded by Lord Buddha.
ii) Buddhism is spread in Asian countries due to
its liberal philosophy.

iii) It has three main sectors.

a) i only

b) ii only

c) iii only

d) All the above

78. Which religion is regarded as the parent of
Christianity?

a) Zoroastrianism

b) Judaism

c) Mazdayasna

d) Confucianism

79. Assertion (A): Chinese religion has two
beliefs called Confucianism and Taoism.

Reasoning(R): Taoism was established by Lao
Tse.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.

d) Both A and R is False.

80. Choose the correct statements.

i) Jainism was founded by Lord Mahavira.

i) Guru Nanak established Jainism in the 15th
century.

iii) Gurumukhi is the accepted language of
Jainism.

a) i only
b) ii only
c) iii only
d) All the above
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81. Which of this religion is the special form of
ethnic region?

a) Tribal religions

b) Confucianism

¢) Judaism

d) Zoroastrianism

82. Choose the correct statement regarding the
Tribal people.

i) The Tribal people cherish their own distinct
and maintain close relation to land and natural
environment.

ii) They live according to their traditions and are
engaged in food gathering, hunting, fishing, and
primitive agriculture.

i) About four percent of the total population of
the world living in more than sixty countries
belongs to Tribal people.

a)ionly

b) ii only

c) iii only

d) All the above

83. Match

A. Bolivia - i) 8.2 %

B. India - ii) 40%

C. Greenland - iii) 90%

D. Peru - iv) 66%

a) i, iii, iv, ii

b) ii, iv, i, iii

) iv, i, iii, i

d) i, iii, iv, ii

84. What is the belief of the tribal people termed
as the fourth world?

a) Land belongs to the people

b) People belongs to the land

¢) People and Land are inseparable
d) Nature is God

85. Match

A. Grasslands - i) Bedouin

B. Tropical Deserts - ii) Gonds

C. Mountainous region - iii) Masai
D. Monsoon region - iv) Gujjar

a) iii, i, iv, ii

c) iii, ii, i, iv

d) i, iv, i, iii

86. Which of these people are called as
Negrillos?

a) Kyrghizs

b) Lapp

c) Pigmies

d) Bushman

87. Which of these people are mentioned as
Dwarf?

a) Negrillos

b) Pigmies

c¢) Negroid

d) All the above

88. Choose the correct statements.

i) The Pigmies live in scattered parts of tropical
Central Africa.

i) Pigmies mainly belong to the Congo basin.
a) i only

b) ii only

c) Both i and ii

d) Neither i nor ii

89. Which of these persons are known to be the
best pastoral society in the world?

a) Masai

b) Semai

c) Sakai

d) Naga

90. State the location of the Masai territory?
a) 10°E and 65°S

b) 5°N and 35°E

¢) 1°N and 6°S

d) 10°N and 8°W

91. What is the meaning of Bedouin in Arab
language?

a) Tribal of Deserts

b) Desert Dwellers

¢) God's own people

d) None of the above

92. Choose the Incorrect statements.
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i) The Bedouins are the mixture of
Mediterranean and Red Indian races.

ii) The Bedouins have long narrow face,
prominent nose and dark eyed people.

iii) They belong to the desert areas of the
Arabian Peninsula.

a)ionly
b) ii only
c) iii only
d) All the above

93. Which of these tribal people belongs to the
Kalahari Desert of Southern Africa?

a) Boro

b) Aborigines

¢) Bushman

d) Papuan

94. Which of this region is not a homeland of
the Bushman people?

a) Namibia

b) Yemen

¢) Southern Angola

d) Botswana

95. State the other name of Eskimos.
a) Bedouins

b) Dwarf

¢) Inuits

d) Negrillos

96. Which of these are not main physical
characteristics of Eskimo’s?

a) Small snub nose

b) Straight Black Hair

c) Flat narrow face

d) Wheatish complexion

97. Name the hunting method followed by the
Eskimos?

a) Igloo

b) Maupak

¢) Inuit

d) Tundra

98. Choose the Incorrect statements.
i) Eskimos are migratory by nature.

i) The Sledge used by them for travelling is
called Igloos.

iii) The Sledges are drawn by caribous, dogs or
rain deer.

a) i only
b) ii only
c) iii only
d) None of the above

99. Assertion (A): India has the largest
population of the tribal people in the world.

Reasoning(R): More than 84.4 million people of
tribal people lives in India.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.

d) Both A and R is False.

100. What is the occupation of the tribal people
in India?

a) Haunting

b) Coffee and Tea Estates

c) Trading

d) Cattle Herders

101. Which of these tribal people does not
belong to India?

a) Bhils

b) Bhutias
c) Alute

d) Santhals

102. Who is known as the bow men of
Rajasthan?

a) Bhils

b) Gonds
¢) Santhals
d) Todas

103. Which of these does not belong to the
division of Bhils?

a) Central Bhils

b) Rajput Bhils

¢) Pure Bhils

d) Native Bhils
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104. State the religious belief of the Gonds
community?

a) Jainism

b) Nature Worship
¢) Hinduism

d) Buddhism

105. Which of these tribes belong to the pre-
Aryan period of Indian history?

a) Santhals

b) Todas

¢) Gujjar

d) Naga

106. In which of these Indian states Santhals
belongs to?

a) Rajasthan

b) Gujarat

c) Odisha

d) Telangana

107. Munda tribes mainly found in the
region.

a) Jharkhand

b) Madhya Pradesh

¢) Rajasthan

d) Uttar Pradesh

108. What is the meaning of the word Munda?
a) Minister

b) Senapathy

c) Headman

d) The King

109. Which of these tribal people form the large
part of population in the state of Meghalaya?
a) Khasi

b) Toda

) Bhils

d) Santhals

110. In which of this state the Angamis tribe
belongs to?

a) Uttar Pradesh
b) Manipur

¢) West Bengal
d) Nagaland

111. What is the popular art form of Angami
tribes?

a) Woodcraft

b) Kalamkari painting

c) Mural

d) Madhubani paintings

112. Assertion (A): Losar is the main festival of
the Bhutia tribal people.

Reasoning (R): The Angamis tribes of Nagaland
celebrate the Sekrenyi festival.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.

d) Both A and R is False.

113. Which of these tribal people are of the
Tibetan origin?

a) Guijjar

b) Nagas

¢) Santhals

d) Bhutia

114. What is the other name of the Bhutia
tribes?

a) Gonds

b) Lachenpass

¢) Lachungpass

d) Both b and c

115. Where does the Sentinelese tribe belong
to?

a) North Sentinel Island

b) Nagaland

c) Tibet

d) West Africa

116. What is the occupation of the Sentinelese
tribes?

a) Agriculture

b) Hunter-gatherers

c) Wood craft

d) Sea Traders

117. Choose the correct statements regarding
the Sentinelese tribes.
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i) The Sentinelese tribal people are described as
Stone Age people.

i) The Men does not wear any ornaments
except a thicker waist belt.

iii) The Women carry spears, bows and arrows.
a)ionly

b) ii only

c) iii only

d) All the above

118. In which of these hills the Nagarjuna Sagar
Sanctuary is situated?

a) Nagamalai Hills
b) Araku Valley
¢) Horsely Hills
d) Nallamalai Hills

119. In which of these districts the Chenchu
people are not found?

a) Srikakulam

b) Mahabubnagar
¢) Kurnool

d) Prakasham

120. To which origin does the Great
Andamanese tribes are classified?

a) Negroid

b) Caucasoid

) Australoid

d) Mongoloid

121. In which district does the tribal people of
Tamil Nadu are highly concentrated?

a) Tiruvallur

b) Madurai

¢) Nilgiris

d) Tirunelveli

122. What is the main occupation of the tribal
people of Tamil Nadu?

a) Agriculture

b) Fishing

¢) Hunting

d) Pastoral Society

123. Choose the Incorrect statements.

i) The settlements of the Toda people are known
as Munds.

i) The Women from the family of Toda's
occupied with milking and grazing their herd of
buffaloes.

iii) God worship is not followed by the Toda
people.

a) i only

b) ii only

c) iii only

d) None of the above

124. Assertion (A): The Badagas belong to the
higher plateau of the Nilgiris district of Tamil
Nadu.

Reasoning(R): The Badagas is an agricultural
community.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.
d) Both A and R is False.
125. Choose the correct statements.

i) The Badagas are engaged in Coffee
plantations.

i) They have a rich oral tradition of Folk tales,
songs and poetry.

a) i only

b) ii only

c) Both i and ii

d) Neither i nor ii

126. Which of these tribal people are
concentrated in the Trichigadi area of the Nilgiri
Hills?

a) Badagas

b) Kotas

¢) Gonds

d) Todas

127. What are the occupations of the Kota tribal
people?

a) Iron smith

b) Potters

c¢) Carpenters

d) All the above
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128. Which of these tribal people were known
for their black magic and Witchcraft?

a) Todas

b) Badagas
¢) Kurumbas
d) Kotas

129. Name the distinctive language of the
Kurumbas?

a) Kurumbas

b) Tulu

¢) Kannada

d) Tamil

130. Choose the Incorrect statements regarding
the Irula tribes.

i) The Irula tribes belong to the lower slopes and
forests at the base of the Nilgiri Hills.

i) They are the third largest group of tribal
people in Tamil Nadu.

iii) Irulas help in catching snakes and collect the
snake venom.

a) i only
b) ii only
c) iii only
d) All the above

131. Which is the food gathering tribal
community of Tamil Nadu?

a) Paliyan

b) Todas

c) Irulas

d) Kurumbas

132. To which of these regions does the Paliyan
tribes belong?

a) Nilgiri Hills
b) Anaimalai Hills
¢) Palani Hills
d) Kazhugu Malai

133. What is the identification mark for various
cultures?

a) Language
b) Tradition
¢) Culture
d) Custom

134. Which of these factors used to develop the
Linguistic pluralism?

a) Linguistic Diffusion

b) Linguistic Diversity

c) Heterogeneous societies

d) Economic Development

135. What is the period of the Tamil Sangam
Literature?

a) 3000 CE
b) 100 BCE
c) 300 BCE
d) 200 CE

136. Assertion (A): Genetic Classification is
based on the origin and historical development
of the Languages.

Reasoning(R): The Languages descendant from
the common ancestral language is called Proto-
language.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.

d) Both A and R is False.

137. Who classified the world languages and
linguistic families?

a) Baker

b) D. Stamp

c) Toynbee

d) G. L. Trage

138. Match

A. Afro-Asiatic - i) Yukaghir

B. Ural-Altaic - ii) Egyptian

C. Palaeo Asiatic - iii) Niger

D. African - iv) Turkic

a) ii, iv, i, iii

b) i, iii, iv, ii

c) i, iii, iv, i

d) iv, iii, i, ii

139. Which of these is not categorized under the
Dravidian languages?

a) Melanesian
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b) Malayan

¢) Dravidian

d) Chadic

140. How many languages were identified by
the 1961 census of India?

a) 276

b) 312

c) 187

d) 112

141. Assertion (A): The Eighth schedule of the

Indian constitution has 22 officially recognized
languages.

Reasoning(R): English language is also included
in the Eighth schedule of constitution of India.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

¢) Ais True but R is False.
d) Both A and R is False.

142. Which of these amendment added Sindhi
language in the Indian Constitution?

a) 21st Amendment Act
b) 44th Amendment Act
¢) 14th Amendment Act
d) 27th Amendment Act

143. Which of these languages was added by
the 71 Constitutional Amendment Act?

a) Telugu

b) Urdu

c) Konkani

d) Oriya

144. In which year the 92nd Constitutional
Amendment Act was passed?

a) 2001

b) 2003

¢) 2009

d) 2007

145. How many major linguistic families are
categorized in India?

a)4
b) 7

c)3

d)5

146. Assertion (A): Dialect is a distinct language
form of a certain region or social group.

Reasoning(R): Dialect cannot be understood by
the speakers of the same language form.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.
d) Both A and R is False.

147. How many types of dialects are
categorized?

a)3

b) 2

c)7

d)5

148. How many languages or dialects are
considered to be endangered in India?
a) 12

b) 40

c) 20

d) 15

149. How many non-scheduled languages are
reported in India?

a) 22

b) 30

c) 56

d) 100

150. Identify the correct Match.

A. Himachal Pradesh - i) 17

B. Andaman and Nicobar - ii) 4

C. Manipur - iii) 7

a) i only

b) ii only

c) iii only

d) All the above

151. Which of these is not a major dialect of
Tamil Nadu?

a) Chennai
b) Thanjavur
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¢) Tirunelveli
d) Madurai

152. How many levels of language risk are
identified by the UNESCO?

a)7

b) 10

c)6

d)5

153. Match

A. Severely Endangered - i) Widely spoken
B. Vulnerable - ii) Children not speaking

C. Safe - iii) Not spoken by children outside the
home

D. Definitely Endangered - iv) Spoken by oldest
generation

a) iii, iv, ii, i

b) ii, iii, iv, i

C) v, iii, i, ii

d) ii, iii, iv, i

154. How many critically endangered languages
are identified by the UNESCO?

a) 300

b) 577

c) 527

d) 625

155. Define a State.

a) Independent

b) Sovereign Region

¢) Bounded Area

d) All the above

156. Which is considered as the world's first
republic?

a) Vaishali

b) Washington

¢) Shanghai

d) Babylon

157. Choose the correct statements.

i) The Nation state is a system of organization
defined by geography, politics and culture.

a) i only

b) ii only

c) Both i and ii

d) Neither i nor ii

158. What are the qualities of a nation-state?
a) Well defined Territory

b) Law of governance

¢) Well organized people

d) All the above

159. Assertion (A): International Frontiers were
replaced by the lines by 1900.

Reasoning(R): A Frontier is a politico
geographical area beyond defined borders of a
political unit.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.
d) Both A and R is False.

160. Which of these are demarcated by a
boundary line?

a) Political Unit

b) Administrative Region

¢) Geographical Region

d) All the above

161. How many countries share the border with
China?

a) 23

b) 10

c) 14

d) 17

162. Which of these country shares the longest
international border with the United States?

a) Canada

b) Brazil

¢) Chile

d) Mexico

163. Name the classification of boundaries

ii) The Nation state must have a shared national aclctz.rdln?]. , to their cultural  landscape
identity, physical borders and a single relationships
government. a) Functional Classification
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b) Normal Classification

¢) Genetic Classification

d) Both a and c

164. Choose the correct statements.

i) The Frontiers are Dynamic.

ii) The Boundary Lines have the Linear Concept.
i) Frontiers don’t have any political dispute.

iv) Boundaries are mostly natural.

a) i, ii, iii only

b) ii, iv, only

c) ii, iii, iv only

d) i, iv only

165. Which is not a genetic classification of the
boundary?

a) Natural Boundary

b) Subsequent Boundary

¢) Relict Boundary

d) Superimposed Boundary

166. Assertion (A): Geo politics study involves a
country’s size and influence of its power with
other countries.

Reasoning(R): Political activity is influenced by
the physical features of a country.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) A is False but R is True.
d) Both A and R is False.

167. Which of these geographical factors
considered by the Geo Politics?

a) Territory

b) Population

c) Natural Resources
d) All the above

168. Who defined the political history of the
world as struggle between land and sea powers?

a) Stamp

b) Toynbee
¢) Mackinder
d) Baker

169. How many tiers of earth were divided by
Mackinder?

a) 2

b) 7

c)5

d)3

170. Match

A. Marginal Crescent - i) Great Britain

B. Insular Crescent - ii) Eastern Europe

C. Heartland - iii) North Sahara

a) ii, i, iii

b) i, iii, ii

c) iii, i, ii

d) ii, iii, i

171. Who is considered to control the world
according to Mackinder?

a) Control over the Heartland

b) Marginal Crescent Controlling Authorities

c) Great Emperors

d) Economically Developed Country

172. Which is not true according to Mackinder
theory?

a) Who rules east Europe commands the
Heartland.

b) Who rules Heartland commands World Peace.
¢) Who rules Heartland commands World Island.
d) Who rules World Island commands the World.

173. According to Mackinder which of these
powerful countries should be separated by
creating buffer states?

a) Germany, France

b) Russia, China

c) Germany, Russia

d) Saudi Arabia, China

174. Choose the correct Statements.

i) Mackinder theory was tested during the World
War L.

ii) The Heartland was controlled by China during
the World War II.

a) i only
b) ii only
c) Both i and ii
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d) Neither i nor ii
175. Which of these not makes the Heartland
inaccessible?

a) North Sea

b) Iranian Plateau

c¢) Siberian Mountains

d) Kanjanjunga

176. Which is the only accessible gateway to the
Heartland?

a) Himalayas

b) Eastern Europe

¢) Alaska Mountains

d) Western Russia

177. Assertion (A): In 1904, the Mackinder
theory was not applicable in the Heartland of the
World Island.

Reasoning(R): Mackinder believed that the one
who controls the heartland would be able to
control the World-Island.

a) Both A and R is True and R is the correct
explanation of A.

b) Both A and R is True but R is not the correct
explanation of A.

c) Ais False but R is True.
d) Both A and R is False.

178. How the Unipolar world is characterized by
the United States?

a) Unilateral Initiatives
b) Indirectly

¢) Lead from Behind
d) All the above

179. Why the Multipolar forces wanted to
replace the US led unipolar world?

a) To initiate new economic development
b) To balance the International Affairs

¢) To motivate the developing countries
d) All the above

180. Choose the correct statements.

i) The International affairs are balanced by the
International Institutions such as UN, IMF,
World Bank.

i) BRICS-plus is the new initiative to encourage
the multilateral co-operation in international
organizations.

a) i only

b) ii only

c) Both i and ii

d) Neither i nor ii

181. Choose the correct statements.

i) The United States control over the world
through economic means by the military forces.

ii) The United States is unable to attack directly
without suffering damage through nuclear
strikes.

a) i only

b) ii only

c) Both i and ii

d) Neither i nor ii

182. Choose the correct statements.

i) The US missile shields and space related
weapons make the country to defend from the
submarine launched missiles.

ii) The Russia, China and other countries have a
naval race with the US.

a) i only

b) ii only

c) Both i and ii
d) Neither i nor ii

183. Which of these are the chokepoints of
China to block the US efforts in international
waterways?

a) Otranto Strait
b) Mesina Strait

¢) Strait of Malacca
d) Pak Strait

184. To which country China needs to secure
the growing economics through the Sea Line of
Communication?

a) Japan

b) Africa

c) The United States
d) The Britain
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185. In which part of western hemisphere China
want to counter America's movement?

a) South China Sea
b) Japan

c) Southwest Alaskan
d) Pacific Ocean

186. What is the vision of the China's One Belt
One Road design?

a) To improve the world Trading network

b) To facilitate the transition from unipolar to
multipolar powers diversified

c) To explore a new design of road from
America to China

d) To establish the trade in Asian Countries
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